
Exercise, chapter 6, STAT 3309

Please find the following probability by using the table 6.1
Let  Z represent a standard normal random variable. 

Please find 

P(Z<0)

P(Z<-1.96)

P(Z<1.65)

P(Z<1.96)

P(Z<-1.65)

P(Z>1.96)

P(Z>2)

P(1<Z<2)

P(-1.0<Z<0.5)

Let X be a normal random variable with mean 9 and standard deviation 2. Find the probability

P(X<9)

P(X<12.92)

P(X>5.08)

P(7<X<11)

An investment broker reports that the yearly returns on common stocks are approximately normally distributed with a mean return of 12.4 percent and a standard deviation of 20.6 percent. On the other hand, the firm reports that the yearly returns on tax-free municipal bonds are approximately distributed with a mean 5.2 percent and a standard deviation of 8.6 percent. Find the probability that a randomly selected 

a. Common stock will give a positive yearly return. 

b. Tax-free municipal bond will give a positive yearly return. 

c. Common stock will give more than a 10 percent return. 

d. Tax-free municipal bond will give more than a 10 percent return. 

Please find the following probability by using the table 6.1

Let  Z represent a standard normal random variable. 

Please find  z such that 

P(Z<z)=0.5

P(Z<z)=0.025
P(Z<z)=0.975
P(Z<z)=0.9332

P(Z<z)=0.95

A positive z such that P(-z<Z<z)=0.7738

P(Z<z)=0.05
Let X be a normal random variable with mean 9 and standard deviation 2. Find the probability

Please find x such that

P(X<x)=0.5

P(X<x)=0.025

P(X<x)=0.975

P(X<x)=0.8869

The world’s smallest mammal is the Kitti’s hog-nosed bat, with a mean weight of 1.5 grams and a standard deviation of 0.25 gram. Assuming that the weights are normally distributed, find the probability of randomly selecting a bat that weighs between 1.0 gram and 2.0 grams. 

The annual per capita consumption of ice cream (in pounds) in the United States can be approximated by a normal distribution with mean 15.4 and variance 6.25. What is the largest annual per capita consumption of ice cream that can be in the bottom of 15% of consumption?

The time spent (in days ) waiting for a heart  transplant in Ohio and Michigan for patients with type A+ blood can be approximated by a normal distribution with mean 127 and standard deviation 23.5. What is the shortest time spent waiting for a heart that would still place a patient in the top 3% of waiting times.   
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